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Is this Group for Examiner?: No
Botany

Section Id : 81356136

Section Number : 1

Mandatory or Optional : Mandatory

Number of Questions : 40

Section Marks : 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 1 Question Id : 8135611761 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Choose the wrongly matched pair among the following.

Sod T°Je° 2B =0 23 ABotsed.

Options :
Root Knot — Meloidegyne
. DG HWy — WUV
1. % B

Late blight of potato — Alternaria solam
| BTV 00D B SBrhew — &3 Bk Terd

Black rust of wheat — Pucciniagraminis
- Heo0 30 Brbhen — 13D
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Loose smut of Wheat — Ustilago nuda

4w DGO DHedeD ST Bren — clPOFTAE

Question Number : 2 Question Id : 8135611762 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Colchicine checks

E“g;ji‘::fj QOB

Options:
Formation of spindle

1 ¢ SoC. 0S8 ﬁidbcicio

Replication of proteins

_ TED 0 HAED

Replication of DNA
3 % G DASD

Replication of centrioles

4 % PoBOIrS DAKO

Question Number : 3 Question Id : 8135611763 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the incorrect statement regarding ecological succession
1) Primary succession takes longer than secondary succession
2) Both hydrarch and xerarch successions proceed to similar climax community
3) Pioneers i secondary hydrarch succession are invariably phytoplankton
4)

4) As succession proceeds the number and type of animals and decomposers change due to
change in vegetational change

D006 BASA Po2odot) $oBTAS’ 20 523 DINT) (2Boti0C..
1) &Sefaofu £9AVGAAN S0t FPBadS IRSA 05}&;5 P00 ‘f.}%né)
2) 0 $:%0 00ID BErEPS §080 Totir w8 erot) tEA) B3 Donrws) YA
3) BB0D 20 gR $8AD & FrbozlY g e fgtﬁmwé 8 DITW

4) 2odo R}oaJ5 00030 ¢80 ubadw Klrﬁ)&é‘l?dm@é :13"633 i P00’ m"d.)bm
@E)Q 905 AR
Options :

1.331

I3

2. %

4

3.¢

4. %

Question Number : 4 Question Id : 8135611764 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following is an incorrect property of hydroponic plant production?

TFEYIS ALV &3S DIADL) VorloBot) SoBTS” VBT (5630 AB?

Options :
Essential elements were identified

_— BOF[S LUFVSTVAD DYoo

Deficiency symptoms were not discovered

5 @ e5° LEFrOA SR SIS

Adequate aeration gives optimum growth

3 % S0Dod S708D DRCE BT C3SS:0 HDAMGL SO

Soil less culture

S0yBE GaTreh HGDW
4, % N :

Question Number : 5 Question Id : 8135611765 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The stored food in Rhodophyceae is

B&po & Do ets DETD

Options :
Starch

oG DTTGSAD
1. % @

Mannitol
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Floridian starch

, o Jocaws 6,

Laminarin

4 % e DT0D

Question Number : 6 Question Id : 8135611766 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is an advantage of apomictic seeds?

$0BTAS” R 2D DST L POITFRT ) Botsod..

Options :
Can be produced every year
pol ﬁnb@bdm:) Eej:}e_'i_é 290D

No segregation of characters
VLT DASCE BoB)

Formation of many embryos
938 Dot DBEOR

Do not maintains hybrid characters
QoS8R VLTV BT

Question Number : 7 Question Id : 8135611767 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

On imbibition. pea seeds swell more compared to that of wheat seeds because they contain

o8 e DgT $o8f e dgaren HBArnod’ Gy Sdto 6 &E?

Options :
Protein

| v TBD

Carbohydrate

Dot DEGAD
2. % =

Lipids
. BB

Starch

x T6

Question Number : 8 Question Id : 8135611768 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

a. GLUT-4 1. Sensory reception (Smell. taste. hormone etc)
b. Collagen 1. Enables Glucose transport

c. Antibody 1. Fight with infectious agent

d. Receptor 1v.  Intercellular ground substance

SoBT A RADGEAD

a. GLUT-4 i @o@ab firn 3

b. Eerad i, Ar§s oo

C. 2BOLSAW il RoSE SESTVA JEE) AW

d.  edrorsiw V. SrFoddd Dolrodhs :Jm“g:m
Options :

x @—1), (b—i), (c—iii), (d—iv)
, » (@—id), (b—iv), (c—iii), (d—1)
5 » (@—ib), (b—iv), (c—1), (d—iii

(a—1), (b—iii), (c—iv), (d—ii)

4, %

Question Number : 9 Question Id : 8135611769 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Bulbil is found in which of the following pairs?

S0 T°e5° LAVLATIAL (0 28 VA7
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Options :
Onion & Garlic
&9 Sudasn Ded

Agave & Onion
T Swdasn &d

Dioscorea & Onion
CAB0Y), Bosr ot &8

Agave & Dioscorea
T SBA3L amﬁ@aw

Question Number : 10 Question Id : 8135611770 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Spraying which of the following hormones mcreases the sugarcanes yield?

08 T7e3e5° D :nﬁﬁf‘ém ) Bo3L) SR DO HS drded. SeNR0?

Options :
1.« GA3

> % [AA
C2Hs4

4 % ABA
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Question Number : 11 Question Id : 8135611771 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The difference between spore productions of Penicillium and Rhizopus respectively are

2\datho $08ak BEDI © 26 D G3y300E" Brren S

Options :
Conidia & Sporangia

EhHEair 2o8ain f'.:.cg DerHoiTen
1.¢

Sporangia & Zoospores
¢ DarFoiren HB0IN AD DG Daren

Comdia & Zoospores
EDAE 03T 200030 (20 Sl Dare

Sporophyll & Conidia

g DarHad DA Bas §DEasr
4, %

Question Number : 12 Question Id : 8135611772 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The nuclear pores are the passages for which of the following?

Sols Solre) Mol DOIEIe B

Options :

1.+
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RNA and Proteins
RNA 20dain Jedo

Chromosomes

§25-0° A

Ribosomes and Proteins

8e5° %30 Sodoin 'S

Histone proteins

. IS T

Question Number : 13 Question Id : 8135611773 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is not possible with law of purity of gametes?

LoBT DS DodIrE Dare G ?ag“oe:&o oo E)“c;ﬁ}go =28 D472

Options :
Alleles do not show any blending

1 % o:inrié SSU‘*D#.D S FSVHD Woddsd)

2 kinds of gametes in unequal proportions

L v 2 6570 RoCIrRDrL) DD DiyDeS° ot

(Gametes receive one of the alleles
, Podsrd D20 WS aind), DSy et
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One of the characters 1s not seen at F1 stage
4 % F1 038 ogerod’ 28 oo 800t

Question Number : 14 Question Id : 8135611774 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Chlorophyll a’ and ‘b’ show maximum absorption in

DSBS ‘@'sdain ‘b BDeS” ri&tg $ e TR0 ?
Options :

Blue region

- DY FrosAw

Red region
5 % DY) oA

Blue and red regions
- Doy S0BC% DEDY) Frochaw

Yellow and violet regions

4w RO 0B G FrochA0

Question Number : 15 Question Id : 8135611775 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Who proposed the sexual system of classification?
TohE HBL0R S{IVW DD DAFBotrE>
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Options :
N. Grew

Marcello Malpighi
5&3“5‘:)?;?6 éﬁJ"bﬂ}é

Carolus Van Linnaeus
SBOD T E?Ea‘lomfa

Robert Hooke

4% ::Fa,::g oS

Question Number : 16 Question Id : 8135611776 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The most common microscopic motile asexual reproductive structures present in members of

kingdom fungi and simple plants such as algae are

%@:@w 00030 ROV 2 T 30 U"E’émﬁﬁ Eol AT ORA000D, ) 0003, Bod,
0Pofis DANE\E o7 EPe)

Options :
Zoospores

B0 5 Daren
1. ¢ @

Aplanospores

DEy© DG AL I
2. = &
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Conidia

5 x Sdasr

Hypnospores

ﬂrﬁhfﬁﬁbmw

4, #

Question Number : 17 Question Id : 8135611777 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Escherichia coli is extensively used in biological research because it is
J3\0Rakr § & & TR DOTSHVS" Dol GHATATD. JoSIT b

Options :
Easily cultured
AT égéo DRSO

Easily available
Ao SO

Easy to handle
:)CSS:T&tﬁ-CI“:)é Ao

Easily multiplied in host
3B0S° RWOFOTT BLAHRECE Dok

Question Number : 18 Question Id : 8135611778 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Transpiration plays a significant role in the concept of

el 3 80 @ ©90300ES” DAV TG HFReB?

Options :
Cohesion — tension theory
RooRD ~ BJ(D h{gﬂa@;ﬁm

Mass flow
ESPebbio o T o e b b

Root pressure
D DEDIL

Soil- plant atmosphere continuum
D= D), TT"DHGE0 S0

Question Number : 19 Question Id : 8135611779 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dumbbell shaped guard cells are found in

Got3ed (;ﬁmc{?msﬂd) G£S SETen S

Options :
Vinca

1. ® :)05“

Beetle
, » DOS (S0FD)
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Pea

BQaJm“b

Grass

av G

Question Number : 20 Question Id : 8135611780 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

S phase of cell cycle initiates

Sracigosd” ‘S’ 5% B e3GoDotdRAD?

Options:
DNA double per cell

Lo 8 ££2:506° DNA B€do)) eorboe

Number of chromosomes increases
£ arJdane o8] DA

Number of chromosomes decreases
£ard a0 o8] Sre)

Synthesis of Proteins
4 x TOD o

Question Number : 21 Question Id : 8135611781 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Choose the correct pair of cell wall digesting enzymes used in organisms to separate DNA

S0 TG &0 Sthaw eﬁ.gqﬁn B DNA &0 DEAainti) &Hairfol doFad & Wb

90202 EJS BSHHND TA Mdotsol.

Options :
Lysozyme — Bacteria

SVE Do- erdboir
1.¢ S

Chitinase — Plants

 BOIE- 25w

Cellulose — Fungus

:ae;jnéeﬁﬁin- 2Ho0es50

Lipase — Algae

4% P BDo

Question Number : 22 Question Id : 8135611782 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s a dual-purpose codon?

DBS* DB GSLsy aras §ed?

Options :
1. % UUU

, « UAG
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5 o AUG

4 % UGA

Question Number : 23 Question Id : 8135611783 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In photo periodism the site of perception of light / dark duration 1s

Too) TPerHQS” Hien S Trd 57erdS 9S00 Braet "’c@au:m

Options :
Stem
SP06ead)

Flowers

@ﬂ“ﬂ}w

Leaves

DT

Fruits

2T

Question Number : 24 Question Id : 8135611784 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

a. Nuclein 1. Meselson & Stahl

b. Semiconservative DNA replication | 1. Watson & Crick

¢. Double Helix Model of DNA 1. Frederich Meischer

d. Lac-Operon iv.  Jacob & Monod

SoBT AR BSHGEEW

a.  RArES L aDRSH & FIS

b.  ©8R005S DNA p358 i 0y & 88

c.  DNA &GoBy® daxra . A8 Db

d.  erS T . 288 & drré
Options :

, x @—ii), (b—1), (c—iv), (d—ii)
, o (@—ii), -1, (c—id), (d—iv)
5 » @=D, (b—iii), (c—ii), (d—iv)

(a—1i), (b—ii), (c—iii), (d—iv)

Question Number : 25 Question Id : 8135611785 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following plant hormones acts as antagonist to GA?

800" IS" D 2E), TS GA £ PEED T DI BeH?

Options :
1_ % IBJ'!E.

, v ABA

Question Number : 26 Question Id : 8135611786 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Melvin Calvin worked on which of the following?

209 579D 3 s D BTWD?

Options :
ATP synthesis during photosynthesis

- lolr) 23 Rodirngaie” ATP Rogies &5°

Water release during photosynthesis

- 8660 23] DoaIrSoS” HS derse

Carbon fixation during photosynthesis

e 3&.-635 Dodirngosines”’ Sdaa‘) Co ety
3. @
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Capture of light during photosynthesis

) 689 223§ Podirrdaie’ sTed Voo

Question Number : 27 Question Id : 8135611787 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following does not help in early diagnosis?

2oHT35° DA &“Emavs@ agdmso S’ci:}c:am?

Options :
Serum analysis

5 -
| 00 D3e

r-DNA Technology

5 % r-DNA cdrodSo

5 = PCR

ELISA

4 % OO

Question Number : 28 Question Id : 8135611788 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following:

a. Chirepterophily i. Pollination through squirrels
b. Ophiophily ii.  Pollination through insects
¢. Theorophily ii.  Pollination through bats

d. Entomophily 1v.  Pollination through snakes

Sofd T BSHHGETAWD:

a. PO i &Gdy oo DUER0DE), 0

b. &aoirad i, s oqo” 267 DTRG0

c. A iii. (DT TT° DOV 0

d. DotrDrod iv.  Jr30 or(Ur DU 0
Options :

o @—ii), (b—iv), (c—1), (d—ii)
, x @—D, (b—id), (c—iid), (d—iv)
(a—iii), (b—iv), (c—ii), (d—1)

4% (a—iv), (b—iii), (c—1i), (d—ii)

Question Number : 29 Question Id : 8135611789 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following

Enzyvme Type of RNA
a. RNA Polymerase-III 1. rRNA
b. RNA Polymerase-I ii. mRNA, hnRNA
¢. RNA Polymerase-II ui. tRNA, snRNA, 55 rRNA

SoQT° RN RSDEEEAD

JoFa RNA 6%o
a. RNA J'®2088-111 1. rRNA
b. RNA J®2082-1 1. mRNA, hnRNA
c. RNA J’d2068- 11 1. tRNA, snRNA, 5S rRNA

Options :
oy (@—iiD, (b—ii), (c—1i)

5 (a—iii), (b—1), (c—ii)
3 % (a—1i), (b—ii), (c—iii)

4. % (a—ii), (b—1), (c—iii)

Question Number : 30 Question Id : 8135611790 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Pectinisation 15 seen in

33%5 DEIET Htro & Ererewods” ot

Options :
Parenchyma
S0yE SeFwo

Collenchyma

*rg:“e.: &' £

Sclerenchyma

&yG 5320

Chlorenchyma
eOciNG SeVo

Question Number : 31 Question Id : 8135611791 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Polysomes translate

3D e 2909 B 0t

Options:
DNA into mRNA
DNA &0 mRNA ™

Amino acids into proteins

, oS esaTrOR ddoen
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Proteins mto amino acids
- e oS esdren

mRNA into proteins

4 » MRNA 0 Jdaven

Question Number : 32 Question Id : 8135611792 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Number of female flowers and fruits m cucumber can be increased by the treatment
of which of the following hormone?

D HFE)S Dy Tror BH" Q DAY o[ BAM DIV DotSIEN?
Options:
Cytokinin

DEEDD

Ethylene
> v 280

Gibberellins
&maﬁi}@

Auxins

E_?éb{f_,l}

Question Number : 33 Question Id : 8135611793 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Match the following transgenic crop plants. resistant to pathogens

Column-I Column-II
a. Tomato 1.  Ring spot virus
b. Potato 1. Insects
¢. Papaya 1.  Pseudomonas
d. Cotton iv.  Phytophthora

08 230§ DBIGR 2N VA 2BoSL B ATV 2¢ Bajwdw.

051 9&H-1

[-5] [-5]
a. e)ATET i Boff A& DO
b. eoI™¥ oD . S&rsten
c. e°dyow i, Ar&E203
d 28 iv. S0

Options:

_ (1 —ii), (2—ii), 3—1i), 4—1iv)

5 % (1—1), {2 —in), (3—Hi), (4—1i)

Lo =i, @-iv), B-D, (4—i)

4% (1—iv), (2 —ii), (3 —iii), (4 —i)

Question Number : 34 Question Id : 8135611794 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Heterospory is exhibited by which among the following?

$oBTIS* DB DR DG D2 HEBIR?

Options :
Psilotum

2S5’

1. %

Salvinia

» &b&hcﬁr

Equisetum
) ésé&eae.:-ﬁo
=

Dryopteris
. (22N Fe el

Question Number : 35 Question Id : 8135611795 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The main difference in gram (+)ve and gram (-)ve bacteria resides in their

r TS Hdaww o IBS wrgdaire 2009 DG B0 &° B0t

Options :
Cell wall

1« SIS
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Cytoplasm
sgag;ﬁ?g;ﬁm
%

Cell Number

3 % smaua:5

Flagella

4 % ST 27e

Question Number : 36 Question Id : 8135611796 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is not related to t-RNA?

S$o® T°2¢5° DA t-RNA £ Dotioddadw GIH?
Options :

Reads the code
1 % DoSddo LI

Bind to specific amino acids

- DI T e3ATOL 9eE) o

Elongates peptide chain
DRE Heookw T ESADDD Bt

There are stop codons of t-RNA

t-RNA aBg), Eﬂc:e‘}é Sdd sododd
4.9 -
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Question Number : 37 Question Id : 8135611797 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

250 grams of which microbes. among the following. can produce 25 tons of protem?

308 T7e5° @ arg) B 250 mrawed BROE AR, ) 25 LAY TS & &3S
SabrioD).
Options :

Methanobacterium
. DS w%ﬁoﬁ:&a

Spirulina

5 % j@bjd.)ﬁ)a'*

Brevibacterium

. BJerdbaHdo
Methyvlophilus

D, £,
L, DBSDOD

Question Number : 38 Question Id : 8135611798 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Name of the Plant Fruit Family
a. Tomato i. Moraceae p. Rosaceae
b. Apple ii.  Caryopsis q. Solanaceae
¢. Rice iii. Berry r. Poaceae
d. Jack iv.  Pome s, Sorosis
SoBT AR BIGEEW:
QW) K1Y PO Sénoo
a.  &are’ i 260 p. Ban
b, a8 i, SOArAR g Jodd
c. 09 iii. &8 r. o
d. =5 iv. £ oo
Options:

- (a—iii—p), (b—ii—s), (c—i—q), (d—iv—r)

2 (a—iii—q), (b—iv—p), (c—ii—1), (d—i—15)
;% @—i—p), b-ii—q, (c—ii—r), (d—iv—s)

s x @—ii—p), (b—iii—q), (c—iv—1), (d—i—1)

Question Number : 39 Question Id : 8135611799 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The two strands of DNA are

DNA c3w€), St SYchen

Options :
Similar in nature and complementary

. P08 DD BB VoGS0

Antiparalle]l and complimentary

| 0 DIEToBG0IT 20BaK0 DoFPESo

Basically. different in nature

- T GBS RO e5° &3¢%0

Parallel and complimentary

) PAT0BC0 208aK VePCSe

Question Number : 40 Question Id : 8135611800 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Allele 1s

c::’mrié SJSubo LT

Options :
Total number of genes for a trait

- 208 VL0 OINE), VS0 WAEDHY Road

Total number of chromosomes in diploid set

c.’agoi&i)e‘iés&?&:;} 20350 §ard e AR08y
2. % @ =
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Total number of chromosomes in haploid set

- DEDBES™ A0S § 2 e Doady

Alternate form of gene

v 2,5 ae..ng;ﬁ_') c3ws), ;;wg;&r‘lom G000

Zoology
SectionId : 81356137
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 41 Question Id : 8135611801 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the following statements and identify the correct statements
1) Hormones of adrenal medulla are commonly known as catecholamine.

2) Catecholamines are called emergency hormones.

3) Catecholamine are also known as 3°F” hormone because they play a great role in manage
stress full condition like Fight, Flight and Fright,

4) Glucocorticoids and mineralocorticoids are produced from Adrenal cortex.

& So& I8’ 2BeaND DITI) (For PIETI) r‘ogozﬁod
1) 0dS)8) o G5} artidw o6 DodwE #&‘émvm 5638 Oy Botrdd
2) SBEVRD, OBHV0 FE) R Votrd
3) 558 020y 3F #ﬁémw 90tPd) 0605 SEE:AL B fight, flight Sodaky fright
So505009 Sofh 59¢ DoBWES’ AN TP ST
1) ArE'shs0G), ADOS SETaNE BB H0)0aN Aok eGETAN
Options:

All statements are correct

- ©J) DIDTe DB WD

Only 4 1s correct
4 Sordadd 0 9008

Only 1 1s correct
e 1 Qg0 DO @WoHE

2 and 3 are correct
2 S0803 3 26 20080

Question Number : 42 Question Id : 8135611802 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Arthrodial membrane in cockroach

e5°Bos Hothd esb ot ejsdma
@ @

Options :
Connect thorax with abdomen
B0 &EEHA0S e

Joins sclerites together

2085y 208 TPAS” 2FEE) BBIDLS) GO DETTAD
2. ©

Found on compound eye

3 % P00I0E DBA0ES” Gotrow

Helps to walk on smooth surface

4% AR BB DEDETFIS EDATHETToD

Question Number : 43 Question Id : 8135611803 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The distinguishing feature of all chordates is

S0 BnHwes” Arda £t Lo

Options :
A Water vascular system

2300RCE (R
1. ® = ?S @
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A ventrally placed nerve cord
&6 TG Goco

A chitinous exoskeleton

S8 sHAR ey ©2DoRb0

Noto Chord
:J&:: Do3o

Question Number : 44 Question Id : 8135611804 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The most abundant protein in the human body 1s

37035 306085° B(BLrT &) Ao ydoen DD

Options :
Rennin

| % 09D

Retinin

, 083

Collagen

3 @ Serad

Histamine
R USTRR

4, =
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Question Number : 45 Question Id : 8135611805 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following statement 1s/are correct?

1.
11.
1it.
v.

V.

Vi,

Re-absorption of water occurs passively in the mitial segment of nephron.
Nitrogenous wastes are absorbed by passive transport.

Conditional re-absorption of Na+ and water takes place in DCT.

DCT re-absorbs HCO3

DCT i1s capable of selective seeretion of H™, K™ and NHj to maintain pH and Na+ - K+
balance in blood

Substances like glucose, amino acids, Na+, ete., i the filtrate are re-absorbed actively

206ar265" 1B 900 Padda(For pavTron) Mool

1
11.
111,
v.

¥

V1.

ArSTHE D068 Da0D DoadE v arane” A Aoy OISy DT 0 2008
DR V020G STPLD A AIPE)S 6T DHAES” O

PO 0598 YA Soc Nat andoin AW DG )T Qe Do

BPOY D098 TV ot B 03D DT am B

aroy Nodde Tvan H'. K™ dnbaiw NHz o S0ma) 8 oo o°go 652we” pH &
0001w Nat - K+ d0erd) AoGrosiion

e @aane’ o (PE'D, o earen, Nat dothd D30DraLs Qe nm 30w

Options:
1 % (1) & (11)

5 % (i) & (i)

5 x @) &E)

4.+

All six statements are correct

QR S0 PODTRO DO a0
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Question Number : 46 Question Id : 8135611806 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Industrial melanism 1s an example of

BT TS0 BS eTiron

Options :
Natural selection
28,8 D080

Neo-Lamarckism
O3 w;ﬁrﬁba&

Mutation
aej:]&;::gm

Neo-Darwinism

O3 mﬁ&be&&:

Question Number : 47 Question Id : 8135611807 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Identify the common features of Saccoglossus, Cucumaria. Chaetopleura

1) Bilaterally symmetrical. They are triploblastic and coelomate animals
2) Development 1s indirect
3) Presence of water vascular system which helps in locomotion

4) Excretory system 1s absent. Sexes are separate

FETRD, HORBAIr, SEYPT 0L Motododd FErd vFmA(OFEVR) Mol
1) By s G208, da Liredw $BAD
2) 984 Do
3) 20D0n 330 Bt Bobed® 8w
4) diogs 350 6 otoy, Deort ipew

Options :

Lo 1&2

Question Number : 48 Question Id : 8135611808 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When sex determination occurs after fertilization it is called

HoHESH ST Do bg’dm 2060r00&A0

Options:
1. %
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Syngamic

~ofTaS

Epigamic

5 @ @S

Progamic

3 % STTradS

Apogamic

4% eSS

Question Number : 49 Question Id : 8135611809 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Statement 1- Human skull is dicondylic skull
Statement 2- The skull region articulates with the superior region of the vertebral column

with the help of two occipital condyles.

POV 1: 2070 YT B(SeaLS T
LIDAN 2: NT D) 0B AN, 2 PAANE” Botk) S06:0 HVR SeR0E

Options :
Both statements 1 and 2 are correct and statement 2 1s the correct explanation of statement 1.

1 ¢ DI 1 208050 2 2B aNH.), DIBVAN 2 BVG 1 HL O LoD D6

Both statement 1 and 2 are correct but statement 2 1s not the correct explanation of statement 1

5 % D9t 1 20Bain 2 20 ©owde), POWAAN 2 VNG 1 AL VB LA AH6EH T
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Statement 1 1s correct and statement 2 1s incorrect
HOBRAD 1 20 220000, DIDDHD 2 DB oI 5

Both statements 1 and 2 are incorrect
4 % 2e0tAe 1 Subadw 2 R £9000e) 5°)

Question Number : 50 Question Id : 8135611810 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the incorrect statement regarding skeletal system:

o T35 wf’gﬁcad SOV NotioBow) DO 52 DIDT ) gbleinttod

Options :
Vertebral column formula C7T12Ls81C1

- D) A8 &méﬂ“

Each coxal bone 1s formed of fusion of three bones — Ilium. Ischivm and Pubis

20§ $48 D28 g 935?8. BATR, BLVT), 899 ST DAY SLOWS JVD Dén)cinejooﬁ

Muscular dystrophy 1s progressive degeneration of skeletal muscle mostly due to genefic disorder
- 200006 TS BB w8 YOS Sotid GE0S BriLd. B 2RADOZVMT PoSWRVA

Hinge jomnt found between carpals

20D LoD ée:«:.a B0JOBSRL J0G E0tod
4. & [}

Question Number : 51 Question Id : 8135611811 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

In the development history of mammalian heart. it is observed that it passes through a two
chambered fish-like heart, three chambered frog-like heart and finally four-chambered stage.
To which hypothesis can this above cited statement be approximated?

308 DSTEA0 $66AW aIE), TR E.‘JEU;.‘)S,% Dol Arddy Bod DT80, Botdd (iR
B2 A0S, aTEaAW, APE (AR SOy ), 2)B05aw Aol T AV S ddy
Botded. 2 PRI & i‘ago@mm Botdod

Options :
Lamarck’s principle

PJ"J&J"E?J Do
1. ® L

Mendelian principles

D0COD MTrosAD
2. % &

Biogenetic law

LICETE IS Do
3. ¢ g

Hardy-Weinberg law

o560 — ::}m::éaﬁ Do
4, % & 0"

Question Number : 52 Question Id : 8135611812 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A Kidney stone 1s

S0rGDocodS” (1L T, RVDD

Options :

1. %
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Blockage by proteins
JeS e9¢08eD

Blockage by fats

. SES)IN DETO VoS
2. % : =

Deposition of sand

Calcium Oxalate Crystals

=~dado €355 ‘rbbeﬁ?e.n
4.« o

Question Number : 53 Question Id : 8135611813 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Olecranon Process OCCUrs m

5,985 £d%o Dg) & SO

Options :
Ulna

Dlelt]
1.4 ‘)‘

Radius

2 % 92

Femur
3 % Sootlaans
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Humerus

o
4, % @

Question Number : 54 Question Id : 8135611814 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Right and left sides of an embryo become apparent during

2060 Do LA HBatL &L errren V)N S0t

Options :
Biradial Cleavage

AHV0H DEFDo
1. %

Radial Cleavage
5 % SO0 DATdo

Bilateral Cleavage

- &5&5;15 DEEdo

Spiral Cleavage

) "r’ﬂﬁbu DEFdo
4. %

Question Number : 55 Question Id : 8135611815 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following disorder is not correctly paired to the cause?

1) Goitre- In dietary deficiency of Iodine leads to enlargements of thyroid gland.

2) Cretinism - Hypothyroidism during pregnancy causes defective development and
maturation of the growing baby.

3) Diabetes mellitus - Caused due to hypersecretion of Insulin

4) Diabetes msipidus- Caused due to hyposecretion of ADH

& S0 TS D 008 DO SO0 28 TTL?

1) rontd — eoirdd §°0:8n Hud FTroné dod DEHBued

2) %0 - A6y U ém‘i‘ > porandad 20 09 (6% CEN) O ©A50,
DADER B DA DS

3) cdoireaea Eb@&ai:& T fam:]% QS Tl DA bﬁbmmoé

4) cosr 86 m:::,;acii: = ADH B0y Fadad) DVR bcbmmoa
Options :

1.331

2.332

W]

3.¥

4. % 4

Question Number : 56 Question Id : 8135611816 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In understanding different types of symmetry. the term used as principal axis means:

1) A flat area that run through any axis
2) Animagmnary straight line joiming two opposite pomts at the ends

3) Animagnary straight line jomming the mid-point at one end and the mid-point at
the opposite end

4)  An animal having its body parts arranged in such a manner to exhibit symmetry

DG 0570 TRTVR BITFR BEDLLD DI B0 83 D) EDOTFAFD.

DTN &0 AT:
1) @ ego oo T Aot Do
2) Both H[&0e oTLD 805 Grerodndd dewnd) 3

3) w8 Bodjo AN, NG| FoT) I[BTD wodo CIVE), ¢ Fozr) SO
G TORICR PRD) B

4) oo 3“;&:35‘1 200,008 306 2w TS ST 828 Godito

Options :

1.% 1

i

4.

Question Number : 57 Question Id : 8135611817 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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During gametogenesis Meiosis I occur in

D2y SIS HEaDS” DGO goDSBE 2003008

Options :
Secondary spermatocytes and primary spermatocytes

- BIBAD F5ATB Ee0 SB0K0 TGS WEITSySe

Primary spermatocytes and primary oocytes

- TGS FOGIATH SN FGS WokAT e

Secondary spermatocytes and spermatogonia
&5@0‘.1.} FOSATG Sen HBain BOSSE IS
3. % )=

Secondary spermatocytes and secondary oocytes

. BIB0H FUSITrdSen B0IL BIAOD BoddrdSen
4,

Question Number : 58 Question Id : 8135611818 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Read the following statements and select the correct option

Statement 1: Lymph capillaries are free and blind at one end

Statement 2: Lymph does not flow in a circular manner

S0 DSTIDSBVVA WA ABALM VEAITETH (DBt

DOSIBW 1: FREVIIT VD 8 DIG ATVAID) DTy QT EFe
RODIOW 2: F060A0 dwad :che‘ibﬁﬁ DDT oI

Options:

Both statements 1 and 2 are correct and statement 2 is the correct explanation of statement 1.
1 ¢ DT 1, 2 Tt DOTHA, DIWNAD 2 BAHG DIV 1 £ VBAVA DHdes
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Both statement 1 and 2 are correct but statement 2 is not the correct explanation of statement 1
DT 1, 2 Goter OGN, DD 2 AVHEA PSS 1 L DBALY DddEs S

Statement 1 1s correct and statement 2 1s incorrect
2090 1 ROODAG, DBV W 2 WO 570

Both statements 1 and 2 are incorrect
20«0 1 2803w 2 Codlar 2B 57

Question Number : 59 Question Id : 8135611819 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Who coined the term allele?

"Q‘iJJrﬁngSuséc" ) DGR DATFBoDD ?g;ﬁeg

Options :
Mendel
1. 33 mﬂdn'ﬁ

Johannsen
5 % BTV

Bateson

3 ¢ 53@35

Saunders

4 % ﬁ“cc’sﬁ:}
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Question Number : 60 Question Id : 8135611820 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Energy enters in food chain by

5356 TS S 3§ HD%0 AT BAMD ?
Options :

Consumers
1 % QI EEERL

Producer

5 & &S DT" DO

Decomposer

- ﬁ&aéls‘*cbw

Nomne of the options are correct
4 % O BT DB ST

Question Number : 61 Question Id : 8135611821 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Covering lungs is called

2BV 350D TS

Options :
Peritoneum
2885 Dode
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Pericardium
b&s“gcﬁsa

Perichondrinm
»bsroc,0d0

Pleura

2DRDR BgiSo

Question Number : 62 Question Id : 8135611822 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Urinary bladder is absent in

rErsoio 5 Dotd £

Options :
Wall lizard
. Dced

Snake & Crocodile

&:umn;mﬁﬁnaauﬁﬁ%
2. %

Chameleon
3 % S090IrD

Snake
4 % e

AP EAMCET 2020



AP EAMCET 2020

Question Number : 63 Question Id : 8135611823 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To measure the population density of monarch butterflies occupying a particular park. 100
butterflies are captured. marked with a small dot on a wing, and then released. The next day.
another 100 buttertlies are captured. including the recapture of 20 marked butterflies. One
would correctly estimate the population to be

w8 &m‘*&é;ﬁé;ﬁnﬁﬁ 100 2086), R AN D08 28 0%, 0D 28 8o to8)
28 56952, dde Bz w6er 100 S8 s HENLD) o Bodd’ 20
Swodky Bz (hdozy) tg), B, LA, 8 STE DY BT

Options :
1. ¢ 500

, % 200
5 » 1,000

4 % 900,000

Question Number : 64 Question Id : 8135611824 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following bacteria has potential for nitrogen fixation?

S0t TBSE" D Hosom er$B0s°

Options:
Nitrobacter
De5°er86
a £33
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Rhizobium
5 & Qéf Z2)oioe

Nitrosomonas

Nitroso Coccus
[ D

S

Question Number : 65 Question Id : 8135611825 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Smallest part of Colon& Lacking mesentery 1s

Eerd ¢ D) B3 ol e erto

Options :
Descending

- 0958 582 eTtlo

Ascending

5 v 88T erdlo

Sigmoid

) ian*&-:m& e o
W

Transverse

gl eTio
4.% &
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Question Number : 66 Question Id : 8135611826 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Botryoidal tissue is found in

So0d ToEe5" 3" ETronEe Snrewo $9AD 2D

Options :
Echinodermata
BBICC) e

1. %

Porifera
Njferelon

Mollusca

- ;:139.::3“&

Annelida

4 oD

Question Number : 67 Question Id : 8135611827 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Mastigosphora 1s also known as

A VTR Qe DV

Options :
Flagellata
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Ciliata
, x odcer

Rhizopoda

5 » 0BT

Nomne of these options are correct

4 % D 2T°eD POADIG B

Question Number : 68 Question Id : 8135611828 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Identify the correct information regarding black lung disease or black lung
a) It 1s an occupational respiratory disorder
b) Occurs in cigarette smokers
¢) caused by long-term exposure to coal dust
d) similar to both silicosis from inhaling silica dust and asbestosis from inhaling asbestos dust

¢) Occurs due to lead potsoning

He0R) &dad am(H3 Howodod) 2080rRE" 2OCHA RaSTPR HBocaw
a) A0 WS 0500008 DyBD0DON F(W AL
b) i @l 706" H:00d
¢) &b AV’ I FTREw DA Sd T8 SADS
d) B3 ArEOTD @S EPY HONEID DD DIFDD, BTN EPY DOVED SO
SRR YO Swod
¢) @B MR DA HOND D006

Options :
Onlyb & ¢
1. @ b & mgﬁ)
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3 % c,d&e

4_\._/ H.E&d

Question Number : 69 Question Id : 8135611829 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In phosphorous cycle, weathering makes phosphate available first to

5"5}365} Soked” 5‘?33&5 R0 S000COTT SRVEDD

Options :
Consumer
1 % 2QOLAEEED

Producer

5 SSHSTdwW

Herbivores
T doew

3. %

Dec omposers

4 % marﬁlgﬂmm

Question Number : 70 Question Id : 8135611830 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Choose the correct option regarding the following statements
Statement 1- Both Males and females bear a pair of short. thread like anal styles.

Statement 2- Only i males 10th segment bears a pair of jointed filamentous structures
called anal cerci.

208 DIBTV HHB0) PO DATTHo BLY)A.

DOBHAW 1: ;fg WA £PLo Botr 476 28 28 T FASTL GotPo.

DOSHAW 2: 2o EHS” ArSD 105 DodAn ol wduten DAY oturoren
ot

Options:
Both statements are correct
5 2e0dR0 1 20dodw 2 R0 £90006)

Only statement 1 1s correct
5 % PIBIAW 1 27S820 DO VoIS

Only statement 2 is correct

3 % ROVADW 2 G0 DO VoI

Both are wrong

4 250955500 1 Qudasn 2 DB o) ST

Question Number : 71 Question Id : 8135611831 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement(s) are correct regarding stem cells?

a) Adult stem cells have fewer DNA than embryonic stem cells
b) Adult stem cells are often present only in minute quantities
¢) Adult stem cells will die faster than embryonic stem cells

d) Both adult and embryonic stem cells exhibit totipotency

e) Adult stem cells found m bone marrow and embryonic stem cells found in blastocyst,

S0rw 68 S0 (Dol S06 TG B BAND VIWTV) (HSTO) Hotsed.

a) 6 PR SRS Dot Y ErFvset B85 DNA Sren Gotrom

b) e Jure grren S8 S ArErdd” ArE Gotrow

¢) 6 Srw SETR Dot HrY SRS BB tderon

d) T6 Sre Seren HBHL Dotk Jrw grren Sotkr HOTEAN $9h Gotran

e) ¢ Are Srre v?g mgé‘m ot 30V SIFL) EPIRR & V[0 VYT

Options :
1 % ab&e

2. % €

34,'.:&&

4, % d

Question Number : 72 Question Id : 8135611832 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which one of the following diseases cannot be cured by talking antibiotics?

& S0d 7" & TR ﬁoﬁmcﬁfﬁﬁh B208 8 Hod Hobdaw SobTAan
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Options :
Plague and Tuberculosis
200 2B LoD

Filariasis and Amoebiasis
PTBOITDD 20BAEL DO DD

Leprosy and Diphtheria
T B0 EDdAT

Whooping cough and Pneumonia
§Bodh c5thH 0Bk AR

Question Number : 73 Question Id : 8135611833 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ichthyophis belongs to

QEAIT IR RVIE BAS BoBIE

Options :
Reptelia
‘r@é‘r’bﬁﬁ“m

Annelida
> % @ddc

Mollusca

v SR,
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Amphibia

4 =FalevbinTel.

Question Number : 74 Question Id : 8135611834 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following are not the derivatives of ectoderm?

o8 TIS" DD EPITBIEHIN NG, GHYT") O T°Y

Options :
Epidermis of skin. brain. spinal cord. lens of eye.
E‘.J“":J"TS ::’adémo, G, b&h{l AWE, STod SLSIAW

Pituitary gland. adrenal medulla and pineal gland
DOLPR (0B, WHD)E), (08, HAANES (obd

Hair. nail. lining of mouth and anus.

26, H0y, S8 Soh, JrainDd

Epithelium of urethra. urinary bladder. thyroid. liver and pancreas
BPEEHONIN IDSDODAW, JrTHODLAW, FoUONE, SSoHIW, &30

Question Number : 75 Question Id : 8135611835 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following in not the side effect of anabolic steroids in female athletes?

drrsdsiod’ 360758 Dotobod) NOONEy BROE LIV P& a;:bgs genroraw.
& 208 376" P& 1§ TG

Options:
Increased aggressiveness

1w SDID DA

Decrease the suicidal tendency

L v e588) SPA(S) b“un)ci RErTY) SfotdE

Abnormal menstrual cycles and excessive hair growth on the face and body

- Sa00aTreh 220S0EHA00 S0B050 FOGA, WAV DotPELD DEEEAL

Development of clitoris

3¢5°00 DDA DotdE A
4. % = &

Question Number : 76 Question Id : 8135611836 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Ratio of complementary genes is

DBPOE 2PV S

Options :
1. v A
> % 2:3:4
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3339:3:3:4

g % 12:2:1

Question Number : 77 Question Id : 8135611837 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following animal group are triploblastic. Bilaterally symmetrical and acoelomates?

S0 6" B0, &Sﬁ‘d%, 5“5&;3 306 20001 SR8 Gord aody VR SLRHAW.

Options :
Arthropods. Molluscs and Poriferans

s8N, EJ“&J%“G, Wjerele!
@

Ctenophores. Nematods and Echinodermats

B, D2, APSEC) e

Chordata. Annelids and Platyhelminthes

el 0O, é"ﬁhﬂﬁégﬁ

Only Platyhelminthes
?é:rﬁéoéia A

Question Number : 78 Question Id : 8135611838 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Read the following statements and select the correct option.
Statement 1: Malarial parasite requires two hosts humans and mosquitoes to complete 1ts life eycle.

Statement 2: Mosquito required for schizogony and man required for sporogony

306 padTroL) Norodon) WO 900 BoPEDA BRIVG

2S00 1: HGBIT Do) 8D B DS SEA P BHEDLD Focd LEBIED THT.
099 AP swdoin &

DO 2: AN Sad” adri mbain FFED ardPIL” ahid

Options :

Both statements 1 and 2 are correct and statement 2 is the correct explanation of statement 1.
1 % ROITED 1, 2 Todr DOEHND, PN 2 aNE DaSa 1 £ 28ADHD dadk

Both statement 1 and 2 are correct but statement 2 is not the correct explanation of statement 1

5 % DOSTED 1, 2 BotP ABEHAD, HASHAD 2 BB PSS 1 £ DB DI0E T

Statement 1 1s correct and statement 2 1s incorrect

3 2ecdaiea) 1 DBEHAG aodoin Paddaan 2 b 5Pty

Both statements 1 and 2 are incorrect

4 x DODD3D 1 20Bak 2 ToGr WOHID Y

Question Number : 79 Question Id : 8135611839 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Source of energy in an ecosystem

2O SR Sood 333 dureo

Options:
1. % ATP
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Sun

2 nlﬁméﬂ.}

Plants

3 % mgzrm

Water
4, % DD

Question Number : 80 Question Id : 8135611840 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Study of external features is called

EI"aIR) EEFLDR 3010 O F°0

Options :
Morphology
QO TR0

Anatomy

. 9000\ T 6 F™0

Taxonomy
8508 Qo

Astronomy

4 % DAY F0
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Physics
Section Id : 81356138
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611841 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Camot engme develops 100 hp and operates between 300 K and 500 K. Find its thermal efficiency.

300 K 2080dw 500 K :uc:a?g DA w8 5"0‘1&5 addegdd 100 hp &\d WO0AD. BN, T

LRI S:ﬁ)?&od.

Options :

% 25%

, % 35%

L v 0%

4% 38 %

Question Number : 82 Question Id : 8135611842 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following cylindrical rods, made from the same material. conduct most heat.
when their ends are maintained at the same steady temperatures T;, T,. where Ty, > T,

w8 :Jm"g:mS woDe)e, T8 DAL 28 %&d egﬁg@w I, Ty5(Ty > Tp) © 56 0208\\@,
408 9D APTTY sém‘i‘ 103 & &b sg‘.ﬁ“ 2060?
Options :

Length 1 m. cross-section radius 1 cm

T&D 1m, cos'e a"éﬁ‘gu 1cm

Length 2 m. cross-section radius 1 cm

T 2m, 0SS 35&39 1ecm

Length 2 m. cross-section radius 2 cm

TE 2m, oSS D‘éﬁ‘ga 2 cm

Length 1 m. cross-section radius 2 cm

T&D 1m, ogoS'e 35&39 2 cm

Question Number : 83 Question Id : 8135611843 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 10 g particle is moving with a velocity 5 m.s ™! and having position vector 107 + 6 j m.
Its angular momentum about the origin is

107 +6] m 3% 003 D620 10 g @03 (10 S92 st 51 1.5~ 90, e

Dotd) HE2M &8 Seadtn Sedath Hefdvosh?
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Options :
01k s

1. %

5 % —0.2 k Is

3 @ 03k 15

4 % —04 k Is

Question Number : 84 Question Id : 8135611844 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio of K.E. required by a satellite to escape earth's gravitational field to the K.E. required

AP EAMCET 2020

by the satellite to move in a circular orbit just above earth’s atmosphere is

AV 508 Aot éﬁbomgéomﬁ SRR 1G23SS LB Hrd TTH6NY) WIG

28 ST SE(E" 0N TPV (2388 M| A Budoec.

Options :
1.8 1:1

2. v ¢ 1

3. % 132

Question Number : 85 Question Id : 8135611845 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A small square loop of wire of side ‘I" 1s placed inside a large square loop of wire of side L,
(L >> 1) . the loops are coplanar and their centers coincide. The mutual inductance of the

system 1s proportional to

28 ‘I Zhadnr do W) dBusp er) L, (L >> 1) Zhadwrr v 2 BB V)5
€0, &8 Toth) PRI DSV A BaK & Bott) Bog Docredurr DD &) ow.
& DO\ A08), BV OSSR & RS ArF S0’ Gotnod.

Options :

Question Number : 86 Question Id : 8135611846 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A cube of wood of side 0.25 m weighing 12.5 kg floats on water. If the density of water 1s

1000 kg.m >, find the depth to which the cube is immersed.

12.5 kg 26w, 0.25 m 2020 v 38,8 B9 05 5w A 3Dasrdo0b.
900D, &8 L0HA0 S0IAD S . [98 Fogses 1000 kg.m ™3]
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Options :

1 % Sm
> % 0.5m

3 % 2m

4 & 0.2m

Question Number : 87 Question Id : 8135611847 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two resistances of 2 Q and 3 Q are connected in series and a potential difference of 10V 1s
applied across the combination. The potential difference across 2 Q 1s

Bocy eEe0 203 Q 336" €D 83 10 V TS B0 030060, 2
DB s 530 065y THNE 5w Jod?

Options:
1. % 5V

, % 6V
3w 4V

4. % 8V

Question Number : 88 Question Id : 8135611848 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acceleration ‘a’ of the vertical U-tube 1s

Qa0 U-H8:50 ains) 88w a =

[
, 8
[e—= —f

W

[« 4b

Options :

1.% &

Question Number : 89 Question Id : 8135611849 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The path lengths travelled by a molecule A in 6 collisions are as shown the figure. The mean
free path of the molecule A is units.

A 3 9£03) 6 DHrEred” HOITHoN Do TEVR DS’ ErHced. Land A

QDY) CNE), ATy D6 20610 LN
. 0
5 A
L1
7
> 9
A 0
Options:
1.% 7
2. % 4
3.¥ s
4, % 30

Question Number : 90 Question Id : 8135611850 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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11777777777
Consider the situation shown n figure. Initially the spring is
unstretched. When the system is released from rest, assuming no
friction in the pulley, find the maximum elongation of the spring. u
m

Deh & 2dk Fhd T\, &° ;‘.1)&056 AUREY BTN w
\_.-r @ _\i,_xmax
o0 Aot ST, $0y8° 206t T &od, Mol k
aig), 63y PAXSL §208) 0dt?
Options:

mg
1.% Kk

2mg
2.9 k

amg
3. % k

4mg
4, % k

Question Number : 91 Question Id : 8135611851 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The refractive index of a medium is given by (symbols have their usual meanings)
a3 g0 aE) 58833 Aomgaw = (Aodoen T8 5“53.3"335 eﬂg‘*ﬁ)‘l <9 &) )
Options :
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Eolo
U
1. %
EH
Eolto
2. &
Eold
£Ho
3 ®
£
o
4, %

Question Number : 92 Question Id : 8135611852 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two masses my = 5 kg and m, = 4.8 kg tied to a string are hanging over

LI,
a light frictionless pulley. What 1s the acceleration of the masses. when left |
free to move? (g = 9.8 m.s'z} £
my =5 kg 0Bt m, = 4.8 kg o) Bt @000 28 i) Do) \_/‘
8 (1G0T ?.‘.Dg} (0 SGOTD. Gt GA(T 0V YT i
my

SOTOL BN, & G[orB00 aine), B dodd ? (g =98m.s7%)

Options :

1«02 m.s?

> % 9.8 m.s 2
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3 % 5.0 m.s™?

4 % 48 m.s7?

Question Number : 93 Question Id : 8135611853 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the diameter of a brass rod is 4 mm and Young's modulus of brass is 9 x 10'°N.m?, find
the force required to stretch it by 0.1% of its length.

28 Th 86 T30 4 mm 208050 oo s 9 X 10'°N. m?. & séa FebD, T
TED) 0.1% DotHEE) SPHVAD LAY dod?

Options :

1 ¢ 360m N

, % 36N

. 3
o x 144m X 10° N

4 % 36m X 10° N

Question Number : 94 Question Id : 8135611854 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A resistance of 50 € is connected in series with a 10 [UF capacitor and these are connected to
a 20 V,50 Hz A.C. supply. The total impedance of the circuit 1s

10 IF 33089y o Saratb £ 386" 50 Q ) sdard. D& 20,50 Hz » A.C.
256 A% SDFD. Lo, & Swobe g, Ando BTG dod?

Options :
1. % 1215 Q

, % 155.6 Q

5 v 3220

4 % 1955 Q

Question Number : 95 Question Id : 8135611855 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The moment of inertia of a circular ring of radius 15 em and mass 150 g 1s

150 g @:150"%, 15 em m&&go (o 55750 &ofido A0S BESC PP0So dod?

Options :

|« 0008 kg.m?

, x 0-006 kg.m?

5 « 0.004 kg.m?

2
4 0.003 kg.m

AP EAMCET 2020



AP EAMCET 2020

Question Number : 96 Question Id : 8135611856 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If ;. A,. A5 are the wavelengths of the waves giving resonance with the fundamental, first,
second overtones respectively of a closed organ pipe. then the ratio of A;:4,:4; =

8 30008 FQ306" Ay 1y, A B0t BE i Somew ST e, 20068,

Bocisd AT BRVT AN DEYDROT) 0. O, Ay: 42 A3 =

Options:

1_&;1:3:5
> % 12233
3 % h e 1
4 v 15:5:3

Question Number : 97 Question Id : 8135611857 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The half-lives of a radioactive sample for @ and f decay s 6 years and 12 years respectively,
The percentage of the sample that decayed after 16 years is

28 U"d(ﬂi"tﬁ"ﬁéﬂ AT ae), @ 2080 f DIVOTV ©TAN SR SERT 6 VoIS

0800 12 doddyorew wand, 16 R0IB\TL 0TS & DAPTS’ DL TAAW

Options :
1. ¢ 37.0%
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> % 87.5%
3 % 75 %

4. % 50 %

Question Number : 98 Question Id : 8135611858 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the energy of incident radiation for which electrons are emitted with a velocity of
2.5 X 10° m.s™2, given the work function of incident surface is 1.8 eV.

1.8 eV Hp2000aw $9A% w8 &°r e0dBweR Aol 2.5 X 10° m.s ™! Dried dogd

DNIELTAS STV DBIISGE0 S, 33 dodd?

Options:
1 % 1.937 eV

3 @ 19.57 eV

4 % 20.1eV

Question Number : 99 Question Id : 8135611859 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The electromagnetic waves of frequency 2 MHz to 30 MHz are used

2 MHz {yoc. 30 MHz ;‘f:x:;;qm o :ld}smmﬁ“&o@ BTV &Nt a‘&bbm

Options :
In ground wave propagation

- Hr SSofs aﬂéﬁéaﬁm&‘i‘s

In sky wave propagation
 PoB0L B0 TODH0S”

In microwave propagation

- 20E B85

In satellite communication

& (57 DoRdGAeS”
4. % = A

Question Number : 100 Question Id : 8135611860 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A tangential force F acts along the rim of a ring of radium. R and displaces the ring through

an angle 6 . The work done by the force is:

m&ﬂ"gm R 6 &ofigdn eetd) Dotdd F 9 ’n};)ﬁgojn 200 DB, e 0 oy
&0 %"R‘) HoFA0 BAM. 9ONN, & LU0 WM DA Jod?

Options :
| « FR?6
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FRO

4 » FRO

Question Number : 101 Question Id : 8135611861 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two tangent galvanometers 4 and B are connected in sertes. The ratio of their number of turns

is 2 : 1 and the ratio of the radii of their coils is 2 : /3. If the deflection produced in A is 45°,

the deflection produced in B 1s

Boc) Erodiot) TR Mexdoen 4, B o 363° geodegon. T thi Rop(L Apd 2+ 1 a1
00 ;r’lg%“g;:mv A8 21 1/3. A& D90 45° wand B & J6\GH 0dgha

Options :
1 % 45°

5 % 60°

3.v 30°

4 % 90°

Question Number : 102 Question Id : 8135611862 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Two springs ‘A” and ‘B’ (kg = 2k,) are stretched by same suspended weight. Then ratio of
work done in stretching is
‘A 508030 ‘B’ (kg = 2k4) 930 Botd o) a8 dS FHAFan. T
FAG0DES Brad D Qg

Options :
1. 1:2

3.0% 1:1

4.33 1:‘:1‘

Question Number : 103 Question Id : 8135611863 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A voltmeter has a resistance *G’ and range ‘V’. What resistance should be connected in
series to it. in order to increase its range to nl'?
28 5%}).} D68 G B30 20005 V'’ F?S;:g £dA &) 6. T OB nV g DotierRS

dodh IEEIV 358° LUHITA?

Options :

1 % nG

, » M+ 1)G

3 ¢ (n—1)G
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4 % T

Question Number : 104 Question Id : 8135611864 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Wehicles are streamlined to reduce

TITT O TUTFEE 608 BID SHottrIE oSBT 67

Options :
Static friction

. Z}%;}e.: 20des

Kinetic friction

(ie3s udes
2. % ad

Sliding friction

2PCOCD 2003
3. % .

Flud friction

2T 200E
g ]

Question Number : 105 Question Id : 8135611865 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A particle 1s acted simultaneously by two mutually perpendicular simple harmonic motions.
x = acoswt and y = a sinwt. The trajectory of motion of the particle will be

28 S0 2 2870 Totd) 2660 Vb Gols MEY TTE] S DOTL) DIBRVT) 0.

X = acoswt 00000 y = asinwt. 8900, &8 £63:.200 (A D0

Options :
An ellipse

| 8 BY Dy

A parabola
9 % 205 DOT 00D

A circle

28 OS2
3.¢ =

A hyperbola

4 % S 08 DT°HVOIIL

Question Number : 106 Question Id : 8135611866 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The P — T diagram for an ideal gas is shown mn figure A A
where AC 1s an adiabatic process. The corresponding P

P —V diagram 1s

28 600) TAWPG P~ T D Sroud. eotoe” B (
33
]
AC 2558 03D, 638 Hotodd P~V 75 067
Options:
1. ®
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P 4 A

B (
>y
P A A
B C
»
2.9
F 9 -""'L
P
B C
i
3. %
p 4 A
B C
il ¥
4, %

Question Number : 107 Question Id : 8135611867 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let F be the force of attraction between the earth and the sun. When the distance between them 1s
mcreased to 3 times. then the force of attraction between them will be

AP 0803w AP 2065 8S6e o F. T8 26 Ao Sune 080 DA, T8 SVl

Usgea AL

Options :

Question Number : 108 Question Id : 8135611868 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electron of mass m,, initially at rest, moves through a certain distance in a uniform electric field in
time t;. A proton of mass My, also mitially at rest takes time t; to move through an equal distance in

this uniform electric field. Neglecting the effect of gravity. the ratio t;/t; 1s nearly equal to

m, 3 (0 28 JOFD, Fend D3 oo ol t; ot 508 Dad 806" Foos croo
Q00redodod. My, BT (10 8 TErd 4re Fee H3ywom ol t, S00d" D566 daxd

208" D @rdo Yoireiodod. MK IRy D8R t/t; Jiyd WArdT=___

Options :

Mp

1. % Mg
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Question Number : 109 Question Id : 8135611869 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Length of a wire at room temperature 1s 4.55 m. When the temperature is creased to 100 °C.
its length becomes 4.57 m. Then the coefficient of linear expansion (@) of the given wire s

(6 el 3¢ 28 & Tk 4.55 m. &T68%0 100 °C £ Do & Tk 4.57m
20098, & 8% T8 rgn(a) devd

Options :

10-5 -1
. % 5021x107° K

10-5 -1
> 6.021 x 107 K

3 % 7-021 X 10~ K1

10-5 -1
4 % 8.021 x 10 ° K

Question Number : 110 Question Id : 8135611870 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The resistances of a copper conductor at 50 °C and 75 °C are respectively 2.4 Q and 2.6 Q.
Then. find the temperature coefficient of resistance of copper.

THS Bnd Tirs e 50°C ., 75°C ::cg SOV 2.4 Q. 2.6 Q. w0, T°H WS,
agﬁr_ia B HEsgA Kedotso.

Options :

-3 op—1
L 4Xx1073 °C

, % 3.8x107% °C™!

an—3 o1
3}34.8){10 C

1n—3 opr—1
4% 3X107°°C

Question Number : 111 Question Id : 8135611871 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A projectile has a speed of 6 m. s~ at its maximum height. If its total time of flight is 8
seconds, the horizontal range 1s

w8 PED%0 S’ Hoirsiedd Ande SLAW 8 DSV, dad riﬁ:é*{ ALV bcg o 2fo
6m.s™" eond, T £92-RATodE T(w Y.

Options :

2 % 24m

AP EAMCET 2020



AP EAMCET 2020

3 % 36m

4 v 48 m

Question Number : 112 Question Id : 8135611872 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A ray of light is incident on one face of a prism of refractive index +/2 at an angle of 45°. If the
ray after refraction at the second face grazes the surface. find the angle of the given prism.

208 5700 S0 V2 582559 Hrgw Mo DS 48 VAN 45° S BAP ISR,
5825520200 SETS 362300 DL Tocksd erD) LRV FA 37, &8 DR Eractoo =

Options :
1. % 60°
9 % 45°

3 v 75°

4 % 90°

Question Number : 113 Question Id : 8135611873 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Following truth table represents which gate?

S0 Dz DS D TEHNR ATV &7

A B ¥
0 0 1
1 0 1
0 1 1
1 1 0

Options :

1 % XOR

2 « NAND

3 % NOT

4 % AND

Question Number : 114 Question Id : 8135611874 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electric field in a region 15 radially outward with magnitude E = ax. Find the charge
contamned i a sphere of radius R in this region. (Sphere 1s centered at the origin)

28 DOIING” DS £ HOIrRA T DO erir| B3 E = ax 0 Ardid) 6.
& HB%30S” &old R J“éﬂ“g&fm e Hgdnd’ Hbge_?mdi)é 59330 wodd? (AF Sogaw
Sareotd) 20 o)

Options:
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Zero
wmém
W

> % 8raR?®

3
» AmaR

— naR?
4.¢ 3

Question Number : 115 Question Id : 8135611875 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The magnetic potential at a point on the line inclined at 30° with the axis of a short magnet 1s
1.5x10° LA™ m™ . If the magnetic moment is 1.732 A. m?, what will be distance of
point from centre of the magnet?

8 T8 0] 0do a8 &S 30° Ero AP &) DB Dockdey) S¢ I 08
TFODS 15X 107 LA™ .m ™. 0o o8 grdvgo 1.732 A m” eans, ) od
Sogio Aot Dot (L Grdo Jod?

Options :

_— 37 cm
> % 30cm

3« 03m

4 % 0.03m
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Question Number : 116 Question Id : 8135611876 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Maximum displacement of a particle of a medium when a sound wave of frequency
300 Hz passes through it is 0.1 cm. The maximum velocity of the particle is

300 Hz ra=pegmn (o 28 ¢ doriane” 28 gridw 0.1cm (181 g"égoa?:)l
ToB, €5 S0 ﬁ&%}, i) B,

Options :

—1
v 60m cm.s

1.

5 x 30m cm.s~t

3 = 30 em.s™ !

4« 60 cm.s™!

Question Number : 117 Question Id : 8135611877 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The self-inductance of a coil 1s L. Keeping the length and area same. the number of turns in
the col 1s increased to four times. The new self-induction of the coil will be

28 S A, D(ON00E L. T, DTT(OR A6\ Dok OMESORE"D o8y SEEIE
U Bi Dotdd, &8 AL TINE), DS D AN00E dod?

Options :
1. % 4L
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, % 8L
;o 16L

4w 2L

Question Number : 118 Question Id : 8135611878 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body of mass 5 g executes simple harmonic motion with amplitude 10 em and maximum

1

velocity of 100 em.s ™. Its velocity is 50 cm.s ™t at cm from the mean position

REFToed) Sowm d@@al 5y @;ﬁsm%‘ 10 2,8 SRY) AS), Eod 508 10 cm
00030 dﬁa;:, i 100 em. s~ :uc::?s Dot Aow) GG ;::cg &8 DY)
a30g), S 50 em.s ™ otodn?

Options :
5

2. % 5V2

3.0 53

4 % 10V2

Question Number : 119 Question Id : 8135611879 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The moment of inertia of a flywheel making 300 revolutions per minute is 0.3 kg.m?,
Find the torque required to bring 1t to rest in 20 seconds.
QadarAé 300 FAoerew DRV w8 (AT S B30 0.3 kg.m? RES] G50 ¢dn
&3)6. 20 ATV’ ) I3 oS SWHTIEIS IV EP6), B S8 oct ?

Options :
1. % 471 N.m

>« —47.1 N.m

3. ¢ 0471 N.m

4. % 0471 N.m

Question Number : 120 Question Id : 8135611880 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A dimensionless physical quantity

e S FaAsTF

Options :
may have a unit

207900 £9A Eoctdtidy
1.¢

always has a unit

. DYDY DA SO atoc
2.

never has a unit
5 DB DATRI £HH AR
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does not exist
. 29L0508) NS T°F Godid

Chemistry
Section Id : 81356139
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135611881 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The relative lowering of vapour pressure of aqueous solution containing a non-volatile solute
15 0.0125. Then. find the molality of the solution.

w8 TN FDE ety 96 D) Bdw 0.0125 wond, & Frany) werde ddoded.

Options:
1 % 08

, v 07

3 % 0.6
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Question Number : 122 Question Id : 8135611882 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction Hy(g) + Ipg) — 2 Hly). the equilibrium constant K, changes with

Hyg) + lg) = 2 Hl(g) 908 020530 dogaan K, & Ardrdod

Options :
Total pressure
200D DEDS

Catalyst
eS3N0SA0

2. i’ T

The amount of H, and I, present
H, 208050 I, © 9835750

T'E‘lllp grature

e ried
o) (°

Question Number : 123 Question Id : 8135611883 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Pick an oxide among the following. which is neutral in nature

S0 TS’ eje:::cg EENASY (D8otdot..

Options :

1 % Sn0-

> % Si0,
3 % ZnQ0

4 v CO

Question Number : 124 Question Id : 8135611884 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following group is present in basic dye?

2087965 D HIVOH DATIFAD T°6 BoadI06° Gotrdd?

Options :

1 % —S0;H
2.v ~NH;
3, % ~NO;
4. % —OH

Question Number : 125 Question Id : 8135611885 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find Q in the following reaction?

Sod 2L 353e5° Q A0 BUDA?.

H.50 WNaOH (a
"> p s
NaOH (23) ;
(CH2)11CH3
Options :
S0O:Na
(CH1);:1CH;3
1. %
S0:Na
S0O:Na
5 % (CH2)11CH;3
SO:H
(CH2)11CH3
3 %
4.

AP EAMCET 2020



AP EAMCET 2020

SOsNa

(CH2)11CH3

Question Number : 126 Question Id : 8135611886 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the product A in the reaction given below.

oxidation

H;C — CH; — CH, — OH A
Sod ::5656" e.aba‘lm: A D&d?
esdyEdiEaitn
H;C — CH; — CH, — OH A

Options:

. HzC— CH, — CH, — COOH

, o H3C—CH, — COOH
. » HOOC — CH, — COOH

H,C — CH — CH,0H
|
COOH

Question Number : 127 Question Id : 8135611887 Question Type : MCQ Display Question

AP EAMCET 2020



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

UWV-radiation causes to skin

B0 P UV DScere 5200007
Options :
Photodynamic reaction

Stodd (€98 tﬁﬁé

Sticky metaphases
2,(56) 2ETHD © SO

Formation of pyrimidines
3 % DBWES © Saird

Destruction of hydrogen bonds between complimentary DNA strands
RoRrds DNA Seocire £S06 TE RS LoV TEDo BODEo

Question Number : 128 Question Id : 8135611888 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following are considered as Newland’s octave pairs?

SoB=e5" Arjeroly 908 s D DOredoddTiny?

I- B,Al

II- C,N

III- Mg,Ca

IV- 0,S
Options :
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. LIV
, % LILIV
5 % LI

4 % ILILIV

Question Number : 129 Question Id : 8135611889 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
For the reaction A 4y + 2B (5) = 2C 4. at equilibrium, if AH is positive, which among the
following facts 1s true?
A. Equilibrium constant increases with increase in temperature
B. Equilibrium constant does not change with increase i pressure
C. Equilibrium constant decreases with increase in temperature

D. Equilibrium constant decreases with increase in pressure

Ag) 1 2By = 2C(g) n‘.ﬁdisé.‘) ';omwiq?@ a.‘tcm:’a AH = 4ve (c‘,’:ﬂ“@ééo) e9o0d, & 08 T
28 dao?

A &Jded Jrew AT Horaso DADSE

B. 26%08 DBADE P2EDS ?guvosoﬁ“ D ATy Gotdd
C. &% 2008 228728 Aot Sriddxd

D. ¢d0 2008 RTRS Aroso SHdved

Options :

v A
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Question Number : 130 Question Id : 8135611890 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following compounds 1s chiral?

o8 DAY FT VS DB TES'?

Options :
3-Pentanol
3-2300035¢5

1-Pentanol
1--2082365

3-Methyl butan-1-ol
3-085 er(d-1-4,6

3-Methyl butan-2-ol
3-085 ard-2-46

Question Number : 131 Question Id : 8135611891 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

If A E, M and n represent atomic weight. equivalent weight, molecular weight & valency
of an element respectively. then the correct relation among them is

A E,M 00030 1 20 ST D00t0erda), e:am5 a0, 89P0 0803w

S0 ArotstdS, SoBTHE" 1B AN DowoBaw

Options:
1. 4= EXn

B'QJIXﬂ:M

4. % nxM=A4

Question Number : 132 Question Id : 8135611892 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ccl, 1 , ’ ;
N,O; —— 2NO, + r 0, (g) 1s a first order reaction having rate constant

6.2 x 107* s71. Calculate the rate of reaction. when [N,0:] = 1.25 mol. L™?

ccl 1
N,0. —— 2NO, + = 02 (g) R D S30708 1865 A8, Bew H0oo

6.2 X 107* 57" oo, [N,05] = 1.25 mol. L™ esomdicdy 6§ G icdotsod:
Options :

| % 6.35 X 1073 mol. L7151

5 % 5.15 X 107° mol. L 1.s71
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3 % 625 %107 mal. I71.e™1

4.« 7-75 X 10°% mel L .5

Question Number : 133 Question Id : 8135611893 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the empirical formula and molecular mass of a compound are CH,0 and 180 g
respectively. then find the molecular formula of the compound?

25 “ﬂ&éﬁﬁa":}é BT DS 3“63&9.? CH,0 08050 eogerdaan 180 g eond, &

wmb“méw dudol.

Options :
CoH1g04

1. %

, % CHy0

3. v Cﬁﬂlzoﬁ

4 % C2Hi0,

Question Number : 134 Question Id : 8135611894 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange the orbitals 2s,3s, 2p, 3d according to their energy levels. on the basis of (n + [) rule

(n+1) QODLATR) BEET w8 2s,3s,2p, 3d 50, P YA RGEEN meé wmdao&
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Options :

128 < 2p < 3s < 3d
5 % 2s << 35 < 2p < 3d

3 %28 < 3d < 2p < 3s

3d < 3s

A

4 % 2s < 2p

Question Number : 135 Question Id : 8135611895 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the false statement regarding resonance

1) As the number of charges increases, the resonance forms get more significant
2) Zero charge of resonance is the most significant one

3) Atoms with full octet resonance form are more stable when compared to the one with unfilled octet

4) Tt occurs 1n conjugated systems.

030y £ Dow0dod) 308 PSS’ IO W0 FH?
1) sd70 dopj S 5@ T8RS, draPe dranafe dorbeod
2) rayj 2 080y B(d8 drange (b
3) 0Py 98 040y TR0 (10 DXL S085 DoPY e 08 A0y AT 0
LAY IVNEVRY Q08D
4) oatur), Hf5R0E" B 6y
Options :

1.v 1

| S ]
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Question Number : 136 Question Id : 8135611896 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The latent heat of vaporization of water at 100 °C is 540 cal g1 . Calculate the increase in
entropy when one mole of water at 100 °C has evaporated.

100 °C 65 6 eranyadd T 540 cal g™ (srwden ). 100 °C 56 28 276
A grenyBddo B3 Jotied DAMEL Jos?
Options:

415 cal. K™ . mol™}

1. %

, 1.45 cal. K Y. mol™!

3 ¢ 26 cal. K L. mol™1

4 % 170 cal. K™t mol™!

Question Number : 137 Question Id : 8135611897 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

Which among the following 1s formed when water 1s added to but-1-yne 1n the presence of
Hg** ions as catalyst and in an acidic medium

Hg™* eairan e8)08a0r, e airdsind’ arg-1-09 & 98 dogwi woid” &
S0 ) &Y A0 6 EB0A?

Options :
Butan-2-one

| w&ﬁ&-z-&5

Butan-2-ol
, % mée.w.ﬁ-z-é.-e.'i

Butan-1-ol

3 % a::JﬂéeJ.Ew-] -5.85

Butanal

mém;rﬂoi
4. %

Question Number : 138 Question Id : 8135611898 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Using which of the following methods. a lyophobic sol can be protected?

20HT 5’ LA DS Jre) A HBGS 0oL ENAIT Aot DSBS VA7

Options :
By addition of oppositely charged sol

1% ;3759363.3:- BI3 TS AW SLODL BT
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By adding of an electrolyte

DEAFASA) SLODL T

By addition of lyophilic sol
3 ¢ O HdE IS W SeDL TroT
By boiling
. s00A0tl) o T”
4, %

Question Number : 139 Question Id : 8135611899 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When light rays of wavelength 2A fall on a metal surface at an angle of 30° with respect to it.
forms a 2°® order Bragg's diffraction pattern. Then. calculate the inter planar distance.

24 BO0MPG (fo 508 Aoeren wé &% endoeo p &5 &Hdaed 30° Eno dr Dedaw

0NN 28 653 ey DGR ‘&)Qm D0YEAD. 00, BOBODOER G Gr0e) (igsocdoc.

Options:
| % 05A

2 ® 2A
v 4A

3

4 % 1A

Question Number : 140 Question Id : 8135611900 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following. will react with ammomniacal silver nitrate?

3007DS° ArLAES D0 PGS & I0[ Todd IA?

Options:
1-butene

- 1-a5°5635

1-butyne

1 -m&@é

2-butene

1-&1}05635

2-butyne

l-m;ﬁ@%

Question Number : 141 Question Id : 8135611901 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In the erystalline solid, the radius of cation A 1s 100 pm. the radius of anion B is 241 pm.
Then the structure of solid AB 1s similar to that of

28 )08 BDTGAE” SO A GI0E) T§Irgan 100 pm, e33airS B o3ng),
Jﬁﬁ“gm 241 pm e00nD)YED AB 20IDEER) Do) & FardiD

Options :
1. % ZnS

2 % Cak;
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3 v NacCl

Question Number : 142 Question Id : 8135611902 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

By sublimation technique. which among the following compound can be puritied?

SN P3AD IO S06 D YIRS 3D FFHOIMLAD?

Options :

Benzene

Camphor

> .‘;CD“:)GG

Ethanol

3 % QESeS

Acetic acid

. JtdE e3a10

Question Number : 143 Question Id : 8135611903 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following will show Tyndall effect?

308 70" B0 DT DH61B I ?

Options :
Aqueous solution of soap below eritical micelle concentration

2080 a0 TR Qa‘*‘l EZ"SQ_‘JETQ ea‘_u "n}ma 20) D30
L]

Aqueous solution of soap above critical micelle concentration

“faoaf)g D28 TR ed 5;311 JE‘.JETaj Eéﬁl Kama 20) [E30

Aqueous solution of sodium chloride

3 % JFcobo §oE a0 oo

Aqueous solution of Sugar

4% 5,0 @0 rodeso

Question Number : 144 Question Id : 8135611904 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the number of moles of CH, required for producing 10 moles of water when
sufficient amount of oxygen 1s taken for combustion.

(e SO5E° BAN0E 33320 ENCIAoDNRDYE 10 AT AW DOyEILLD Y

arrene) CHy e9000an?

Options:
1, % lﬂ

2.9 %

3. %
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Question Number : 145 Question Id : 8135611905 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Toluene reacts with Br, in the presence of sunlight to give

ArGY S°08 DaDEDNES” 5790 Bry & 90iSodd DO CI008

Options :
o-bromo toluene

o-g5ar 65795

1. %

p-bromo toluene

5 p-g5'ar &5°9S

Benzyl bromide

o 8025 eS'anE
m-bromo toluene

. M-g5"a 6570

Question Number : 146 Question Id : 8135611906 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following are Dobereiner’s triads?

308 oreS” E£e006 Gsten DD?

I- Li, Na, K
II- Be, Mg, Ca
I11- Ca, Sr, Ba
Iv- Ll By 1

Options :
1 % [II, 110

5 % LILIV
3 v LIV

4w LTIV

Question Number : 147 Question Id : 8135611907 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The molar ionic conductance of Ca®* ionis 119 S.em? mol™ If the molar conductance of
CaCl, at infinite dilution is 271.6 S.cm?. mol™ . the molar ionic conductance of chloride
1ons will be

Ca®* awg), Arerd ealrds Tirsd 119 S.om® mol ™. CaCly wg), Arerd Tired
w08 DD 36 2716 S.cm”.mol™ wowd, §3E waird dwg), Arerd eards
TrED odh?

Options :

- 36.3 S.cm?.mol™?
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5> % 485 S.cm?.mol ™!

3 % 38.1 S.em?.mol™1

- 2 e
4 76.3 S.cm*.mol

Question Number : 148 Question Id : 8135611908 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

How many unpaired electrons does the central atom M. in the complex [ML,]*". have?

Given, the magnetic moment of the complex is found to be 5.9 BM

[ML,J* %ogiess 26] D63 M &' 0) 2,008 TR0 ) ? &) BOHI|0d
@a0s0 5.9BM "9&55 RGO,

Options :
3

1. %

Question Number : 149 Question Id : 8135611909 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following molecules/ions does not contain unpaired electrons?

06 TS 2,000 JVTR T VEOY/AIr A6 ?

Options :

Question Number : 150 Question Id : 8135611910 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following species have planar structures?

o8& T°¢3e5° DS Qo) B0 (S 2B?

Options :
1. % CHa

+
2.¢CH3

3. % CHy

a % BFe
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Question Number : 151 Question Id : 8135611911 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Predict the correct order of the extent of overlapping of atomic orbitals with respect to
their bond strengths

D627 e30,EP) 206 LYo tﬁag"é &5 €307 Dot BATTV DFCANY E),
PBALD £ Bwdod,
Options :

1.¢s—s > Ss—p >p—0p
, xS P>pP—PpP>s5—s

3 % p—p = 8—F > 5—35

4 % P SR 5P

Question Number : 152 Question Id : 8135611912 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s formed by the disproportionation reaction of Cl, with cold and
dilute metal hydroxide?

502 s &> TEdE & §05(CL) s 56 TodB, & S0BTHS" DB Do\ CoAoed?

Options :
1.« ClO™

, x ClOS
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3. % Cl™

4« ClO5

Question Number : 153 Question Id : 8135611913 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the metal that cannot be obtained by electrolysis of an aqueous solution of its salt
among the following.

28 &P 0360 TrHnAD ol D BLFIER DO’ &8 6 Soird SeTAw.
@00, & $08 THS" &8 &) DBotdoeC..

Options :

4. v Na

Question Number : 154 Question Id : 8135611914 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Why does HT ion always get associated with other atoms or molecules?

BB6 DOAPROP T E0PUS H 0P W)y RITEBSKIT Jothos) othad?
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Options :
Tonisation enthalpy of hydrogen resembles that of alkali metals.

TEBS oINS dorrdy vw) D 8w ©ErDEAD Jorrd D I Gotwod

Its reactivity 1s similar to halogens.

TS RIS DI STTBUS SOA od

It resembles both alkali metals and halogens

eSS0 S0k et ady D" daotnod

Loss of an electron from hydrogen atom results in a nucleus of very small size as
compared to other atoms or 10ns. Due to its small size if cannot exist free

TEBD DOATEVY) Aol DOFD Ao BOAVYE DAY Jrese s B

WR) Sogo D6EIBIR. &5 W) Sogo HVX L VW GotTw.
4.+

Question Number : 155 Question Id : 8135611915 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Equilibrium constant K, for a reaction involving hydrolysis of sucrose is 3 x 10** at 350 K.
Find the value of AG at this temperature?

350 K 5 ArS 4 a0 J5m 96(S A2erHd Soesdw K, =3 X 10™. & e o6
AG Desd (edotiod..

Options:

1 % 970 kJ.mol™*

5 % 9701 Lmol™*
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9.7 x10®% kJ.mol™1
3_ W

4 v 97001 J.mol™*

Question Number : 156 Question Id : 8135611916 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is the first man-made element?

S0 AresPOS” DA ANEET HDNB DOITE BOEED HSrLEAD ?
Options :
1, % Ti

2. ® Mo

3 % €

4{/T{.‘

Question Number : 157 Question Id : 8135611917 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

During nitration of Benzene. the attacking reagent is

$0HTIS" HoRS TBNE), PV WO(S” &°C. B 5°CS0 IB?
Options:

+
1 NO,
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2 % NO¥
NO,;

4, % NOs.

Question Number : 158 Question Id : 8135611918 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1onic compounds has the most covalent character

& S0 30378 "ro;isé#a“e.}eﬁ“. B3 e.a:)loﬁsc.éj S D PDATFRID USRI K

Options :
1. % CsCl
> % NaCl

3 % LiF

4 v LiCl

Question Number : 159 Question Id : 8135611919 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Calculate the enthalpy of formation of H,50, at 298 K. using the data provided.
S0d BTroT) &dArAo) 298 K 56 H,50, aig), e Do 2o (iedotdoc
S$+0, — S0, AH = —298.2 k]
$0,+-0, —S0;  AH=-987k]

SO;+ H,0 — H,80, AH= —130.2kJ

Hy+—0, — H,0  AH= 2873k

Options :

1. —814.4 kJ
> % —720 kJ
3 % —300.5 kJ
4 % —423.5 kJ

Question Number : 160 Question Id : 8135611920 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

H3; PO, 1s considered as

HaPO, &5 ™ 583G

Options :
Tribasic acid

S0 2050

1. % =

Dibasic acid

Ly OG0 spdw

AP EAMCET 2020



4. %

AP EAMCET 2020

Momnobasic acid
DEBS e300
3. v =

Tetrabasic acid
EEFE"0 €500
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